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VECTORISING THE SPH CODE 123
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Two types of initial conditions have been taken. The first one consists in a non-
rotating cylindrical cloud with the same initial conditions as Larson [10] as
illustrated in Fig. 4a. (In Figs. 4a and 5a the central hole surrounding the axis is
due to the 2D density distribution, because for uniform p the 2D density is equal
to 2npR, where R is from the axis.) The initial mass density then is

p( r ,  z ) :7 .8  x  to - ta (1+ ( t0 r /R) , ) - t  g " - - . , (s.6)
where R: 1017 cm is the radius of the cloud, so that the initial 2D density distribu-
tion is

'P(r,  z):2n,(r ,  z). (s.7)


